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23 160km?2
88km
82km
1-1
(km) (km?)
1 281
4.0 280
» 14.17 03
0.6 685
1902
3 6.7 10.70 65
4 2801
3.4 1040
5 543
0.3 1145
(10.8)
6 15.4 633
S
6.0
51.40
s (0.0)
1.3
633
° 1.6 70
10 0.8
11
0.1
12 8.5
88
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14
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16 54
16 6.0
1 1.6
18 3.28 213
3.8
5.40 4376
19
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30
33 9 36
41
41 6 56 10 57 9
61 8 8 3 9 5 8
56 10 24 9,000
(H7 )
(H6 )
2-1
mm
(ha) (ha)

33 9 312 60 885" 1,803 | 667 2,456 ©:2,560 5,016
41 6 218 7| 217 4257 383 ™ 1,812 ™
56 10 192 " 52" 871 1,466 ™i2,642 14,1087 677 2,728 2,152 "™i4,880 "
57 9 187 307 6357 457 "i1,293 Mi1,750 " 4227 454 4147 868 ™
61 8 219" 32" 176 ?| 414" 965 "™i1,943 "i2 008 "

8 110 %] 347 92" 35 11,932 1,067 "
3 9 235" 377 287 1,744 ™2
5 8 2297 567 400 | 873 ™i1,509 2,382 "
8 9 260" 347 78 72 272 112 297 ™

*1:
*9-
*3’
*4

15




44 (1910) 6 (1916) 24 (1949)
6 10 122 509
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2 6 13
50
2-2
(m*/s) (ha)

3 | 02234 86.1
2 | 0.0866 79.0
4 | 01917 140.6
4 | 01316 66.0
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BOD2 3mg/l BOD
5 10mg/l BOD10 20mg/l
BOD20 60mg/l
5 E

(BOD75% 10mg/l ) C (BOD75% 5mg/ll )

15 2-3 6

2 BOD
2-3 1980
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2-3 (BOD H1 H15 )
15
75 75

11 14 |[*2
6.9 8.7 4.0 4.1 |*1
4.4 53 2.2 2.6 |*1
15 17 5.1 5.4 (*1
7.2 8.8 5.3 6.7 |*1
16 18 11 10 *1
14 15 9.3 11 *1
14 16 13 14 *1
12 15 4.0 4.8 |*1
12 13 6.5 7.7 |*1
15 15 9.5 9.5 |*1
2.3 2.8 2.0 2.4 |*1

*1
*2
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